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z24a, forz<-1
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A.a=-1 B.a=-8 Ca———9®a——lﬂ E. There are no values of a.

determine all values of a so that A is continuous for all values of z.
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Evaluate lim zcos(i). (Hint: —1 < cos(1) <1 for all z # 0.) @0 B.1 C.-1 D. E. Does
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Ify = In(1 — 22) +sin’z, then £ = A. +5 +cos’z B. 2 + 2sinzcosz C. = +2sinz

D. =2% +cos’z @ 2% + 2sinzcosz
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Assume that y is defined implicitly as a differentiable function of z by the equation zy2? —22+y+5 = 0.

Find & at (-2,1). A.9 B.52 C.1 D.2 @3
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Find the maximum and minimum values of the function f(z) = 322+ 6z —10 on the{interval —2 < z < 2.
A. max is 14, min is -10. B. max is -10, min is -13 ax is 14, min is -13 D. no max, min 1s -

E. max is 14, no min.
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For a differentiable function f(z) it is known that f(3) =5 and f’(3) = —2. Use a linear approximation
to get the approximate value of f(3.02). A.6.02 B.502 C.5.04 D.3 4.96.
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Water is withdrawn from a conical reservoir, 8 feet in diameter and 10 feet deep (vertex down) at the
constant rate of 5 ft3 /min. How fast is the water level falling when the depth of the water in the reservoir

is 5 ft? (V = zmr2h).
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